_§/Q'0V\"-f£fc A[Omlyk\ig

Ponguyeomants
S HW 2 dwe jrovngb\-\—

Today
=2 b\\HJe D’V\d Cqu/Mb\

Febo 17, J03s

[,ac,'\' Srlme :

Merge Sor
[od N\g AQIMO

Compar ech Tomimge

Ol Hours
*MM v Fr
4:300m~ |0:30im
(uda hy 309




R L ovevall nofes:

* We are splithug e jwput gl vot
‘H"Q QQLWCL\ 5/)4766-

* _nlese (@’aw%ms ave n0'|' obv.‘t)us.' lMavU %vvw;

Here  isn L one -

¥ 1L Phere 5, Hs M€ua/,\\j Locter  Hion
bute force - Hee wecomls.w/ng Lnction
'S a/wayg e l/larA P‘“"H




(€54

)
Ex 32— The sipbst cluidh-and~conger afo

\

15 b?nard searcl/\ ".

*[7\4259 JfW, Vlqu'Def
50 L
15 L
2 T
L

\+ Vv



E)C :)*2 er SI\MPB'/‘ dh/m/e aw0/~cmgﬂer d(/ya
15 bmard searcl/\

% Guess the nuwber
IV\ (,Du\a 9"' 'H/lmw qw@ l/)ahp
0(: 30(1!‘ mtwL e,ach e - n= o elowenk

L U onlinwad: O(a)
QQCUM I‘Mce TL"'> = T(,M'/Z,> “" @-" contam wond * D(lo,&d)
Coldion = Tl = O( )



EX 3 - éDoM‘l%v\q fmu%ﬁmj

Calﬂﬁfde/f G I\tﬁ'/' O‘c dl‘S‘ﬁM(‘l .’ S,
o AN A
r’ ! \

= 3% 9 <71 2 6 0 -10

(1q,2)

Am[mvwm s o par (L)L)

Wlnem C& bw" L; > L n
out-of ~c>f7e—r6 Dairy . (o

The lst L bgs: 5% O+ | v 3> 2+t =



Goa\-' CcvmpuLe ‘HAQ == oﬁ nweéesmans n q
Lt of n  elemants

Obvips O%CW‘MM: Check oll  pavs, O(n?).



N N L
~ -
2 7+ Y

D’VFAC’W(} -'cw\%w'{: " O (n >

/_/\/\f‘/\/\

L=;% 4 -1 251 6 0 -n)

o N

’\QCW%NQLQ COW\‘\‘ M5 PQCUI;AJ@J& (oqu MV Sy
y s
40 [ 9 Mmuwins withn @ l/.aH:. How \Many
bo/:\w Me Wiss7 Thet would e o bl
e,\evwml' "Hw{* 5 ,07& Han o I\e&‘ One.

R\B\/\L oo, Yo do thet well hae o 9
-\'\Awaf\ al[ UD]\AQ,WPOlS pavs, wl«.rh «]qkps

atly e (s Oy, uot 30&'\




Heres  Hhe Hrick * While we e Countng  inversion s,
we'll also  card the kts, which  we  Euow
“Cflléﬁ Olw ’09[0\\3 ‘e .




Now we l‘eavmbMQ ‘HAQ ’t‘srls ;\usi ll'[w
Yhe VMQf?ZGO»NL, avdl when do we cleted
Gwn Mv@fﬂw? Aﬂ:j"twm. we Yeke 'vaw\ Hm
FQA )TS“‘ ‘H\Me S 0N Ihvevsion ‘QM Qua,«#wy

\QM " ‘Hm Hue '55‘ )
()

D

—7 rd 3 ’[’ , -0  © / é ‘{+§:7
S K {

-0 -+ 01 23% b (9 <.£/<0

W oox 9% +

(ime™ Tlay= A T(2) + 2n
2 T = Ol jcy(y\“



Ex#{ Closst R o Rinks (75)
L\?A‘ n FQM"S P:ZPNP'—V'"P"%

Gaaﬂ vl the i (?;‘ F\l\ cocls  Hhol
A(?m'?::\ = E.lc‘lﬂ’eau DrS/W'((’

5  mmimized.

(A%(U'MQ dl%lﬂ‘ﬁ(l‘ W’ am( 4 00/‘4”5 1{'\0“ 51“4(9//“0‘1%.) roﬂég?[wb
O (3w otV

9""5‘) l""CfemLe a Verson Iﬁ P He
sorted by x-value, call i+ P
'G“eal-e o vession of P Het rx 90N[€0/
b(\/) :”Ua/ue . all it P:j O(w /oﬂ(iﬂ»



%ZP 2 Beﬂvh Olwt‘o{e,"aml’w/'@uef.

- 4,,|;l» P ik B alf L ad right holf £
UGlVCJ P)g. DU\

- '2
15 F\/"i[ N
= Form e, L%‘ Kx, Rj sy Px o °‘ : .
ol

anel Pa >

' 4

= MA C/OEQQL Paif wm L* [Zf.[z)
avm( c(oseg(— Pa.\r 1% R . 0‘, ,r,_) recursion .

- %k §=mn(dll, 1, dran)).  OC)



‘Mow He hand Parl-" how do we cowbnne.?

Cl@se;" pav tild be m L, i E, O AQ’VQ
o Pem m  each .

Fac" |: I—Q H‘Z cb%{‘ Par(‘ )5 5/3’54‘ acvoss Hle

vad/e line, then  each pomt has b he withw

5 OL Hf‘t 'Me é’\.b
A A\ 02| v
%: MW AKR\(RJL\( ATl L
K @f\b@



of 7

Defve 6 4o ke A“9+ He M7L9 “woitin 7
> of He Ime. O ,5
Mt){'e ‘H/la“ ;’ > ?099(10‘2— 9
F orm § i«L ns Mg P anA Pa'] _Cﬁ) ly

J

HQJ‘Ef wl/wa c" 7el$ fea/d weN‘A §H‘ up

fhe

Qo(-wmé Vu‘hﬁ 61@“ Cemlefw( on Me VMOUQ Ve

o 52 + Y b,”,

---------------
..............
--------------

---------------

B Ok

----------------

----------------

S dl



@F_ﬁ : Each  bey (orleins ol wosh
a smgk pomt A S ( Ofheise,
these PGM"S wodd he < gfz, )
Gk, con mLNU Hie Gk Hiok

O i mm. disfeuce on ether

51\0’( D‘(l Hie IMQ'>

lele ok abuit 5, Hie Pemls m S oudered
b‘5 5-\/@[0\0,



10 o hawe o ?oers in 55 Hat ae 4
ositiws  aport leq, He 102 ad W=y, They
have Yo oA O\Igﬁeven‘L fows.

g 4'»'4- ~7 @mpﬂ row  boweon them ~> = Wz qpan(

L oapard > 2 ewply fows bokiwan Hen ™ 2 & apart
HERR LI MR
O LR W e
€9 apal U Posibets  jn 5\.‘
0%er by ab wost Il .
RN

S k% i



40(49 Lad +he  closest pair M 5 we doa't have
L Q\y\eclt vl paiv (O('g'z)>( Onlj the paw's
er mest [ alfm‘*' M %‘Q ,,\54—

( 4%

Ls, |91,§( (9119‘5>, (5, 412 @

[41. 52 )\ [41.&1),--- (<, Si3)  + I BRI AR
=M HRNR U N
‘e . =
:
AL CONN N F N
Ve Yhmgs do check SN S R
= OLV\) S AN



iumma\ral
- Prosort £ ?v% P B O fog &)
f

-]427):# o halt ad few i, L, B Ry Clo)
- Recwisively  olie on L and £
~ Fmd g 5," {5 O(u)

'(hecl: POIVS m 5 a*l’ mos"' [ cvfbf?l O(W)

Tl = O(n-leglw)y + 5(n]
) = o+ 1°5(") + o) +0(a)

= = 52D = O(a Logn))
= Tl = On- feg ().



D'H'le'f ’Cﬂmous Jiu:o[e-awol '(wguar Q)COMID'PS.

;L.‘r%gef ‘Muj}a‘p’a‘m%v.\_

W "t" T*’ - ‘

pu °© N 0') l"‘ VN\MLW av
Oukput * %y : P !

4wwple a'@a/a'Hawa : 7 12

Y L(: OCM'L)
6 €&

3440
63 € 00O

11 9 2¢
DeC: TLn> 2 3T + 060

= Th) = O £og, (3 - 1.59..
Kd of oy (W=




Sumimary -
’épm M two D(V\%),.
- So'ue ech l/la"p (‘chvave/ y\
— lombine o a Eiﬂ éjq)lfm _-@12[56 ’H'GVI
brde Lovee.







